Paper-2
JEE Advanced, 2017
Part II: Chemi

Read the instructions carefully:

General:

1. This sealed booklet is your Question Paper. Do not break the seal till you are instructed to
do so.

2. The question paper CODE is printed on the left hand top corner of this sheet and the right

hand top corner of the back cover of this booklet.
3. Use the Optical Response Sheet (ORS) provided separately for answering the questions.

4. The paper CODE is printed on its left part as well as the right part of the ORS. Ensure that
both these codes are identical and same as that on the question paper booklet. If not,
contact the invigilator.

5. Blank spaces are provided within this booklet for rough work.
6. Write your name and roll number in the space provided on the back cover of this booklet.
7. After breaking the seal of the booklet at 2:00 pm, verify that the booklet contains 36 pages

and that all the 54 questions along with the options are legible. If not, contact the invigilator
for replacement of the booklet.

8. You are allowed to take away the Question Paper at the end of the examination.
Optical Response Sheet
9. The ORS (top sheet) will be provided with an attached Candidate’s Sheet (bottom sheet).

The Candidate’s Sheet is a carbon - less copy of the ORS.

10. Darken the appropriate bubbles on the ORS by applying sufficient pressure. This will leave
an impression at the corresponding place on the Candidate’s Sheet.

11. The ORS will be collected by the invigilator at the end of the examination.
12. You will be allowed to take away the Candidate’s Sheet at the end of the examination.

13. Do not tamper with of mutilate the ORS. Do not use the ORS for rough work.
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14.

Write your name, roll number and code of the examination center, and sign with pen in the
space provided for this purpose on the ORS. Do not write any of these details anywhere else
on the ORS. Darken the appropriate bubble under each digit of your roll number.

Darken the Bubbles on the ORS

15.

16.

17.

18.

19.

Use a Black Ball Point Pen to darken the bubbles on the ORS.

Darken the bubble O completely.

The correct way of darkening a bubble is as: G

The ORS is machine - gradable. Ensure that the bubbles are darkened in the correct way.

Darken the bubbles only if you are sure of the answer. There is no way to erase or “un-
darken” a darkened bubble.

Page 2 of 16



19.

Ans.

Sol.

SECTION - 1 : (Maximum Marks : 21)

This section contains SEVEN questions

Each question has FOUR options (A), (B), (C) and (D). ONLY ONE of these four options is correct.

For each question, darken the bubble corresponding to the correct option in the ORS.

For each question, marks will be awarded in one of the following categories :

Full Marks : +3 If only the bubble corresponding to the correct option is darkened.
Zero Marks : 0 If none of the bubbles is darkened.
Negative Marks : -1 Inall other cases.

The order of basicity among the following compounds is

ferafarRad el § eTRebar &1 P9 8 |

NH /\ )\ NH,

Na. _NH HN_ N

Hy,C” “NH, N 7 HoN7 NH

0 (m (nn (v
A IT>1>1V>1 @) 1>Vl ©C© V=111 D)IV=1>1>1
(D)

I}iHZ I?IHZ

LN s /C\+ - The conjugate acid is stabilized by resonance with two different
HaN” NH NH, SNH, wug y
=NH; group.
NH, NH, The conjugate acid is stabilized by resonance with one

C|: e é —NH, group and by hyperconjugation of -CH3 group.
SN —— SO\ -
CH3 \NH CH, \NHZ

The conjugate acid is stabilized by resonance with

" / \ only one NH; group.

:N\/NH - H_N\/NH -

() Least basic, as the LP is used in aromaticity.
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20.

Ans.
Sol.

ooy
O s O\ o g e @ —NH, SR & SIS @ g1 veiriiad B ¥
H,N" “NH NH, “NH,
||\|H2 I?IHZ HYH 37 TP —NH, T8 & 318 dl —CH; 98 &
. HfAATHA & §RT WS BNl & |
A UL NS SN
CH, NH CH; "NH,

g e dad Ub NH, 998 @ AgIE @ §RI
i il &

H +
:N\/NH —>H_N\vNH—>
(I =Fe &R @1 Yabld! gelagi= g WRHfeHdr § |1 ofdl © |

Pure water freezes at 273 K and 1 bar. The addition of 34.5 g of ethanol to 500 g of water changes the
freezing point of the solution. Use the freezing point depression constant of water as 2 K kg mol™'. The
figures shown below represent plots of vapour pressure (V.P.) versus temperature (T). [molecular
weight of ethanol is 46 g mol™']

Among the following, the option representing change in the freezing point is

g Sl 273 K 30R 1 bar IR fHR[A (freezes) B1d1 8 | 34.5 g UHIal @l 500 g U+l A Sleld WR fdeia &1
feries 9qe1 S B | Sl @1 f2Wie sfa ReRTa (freezing point depression constant) 2 K kg mol™' of |
A= fedmy R arg g (V.P.) @  EE (T) @ fdeg ifeldl @ Avsfid oxd & | fFrfefad § 3 faded
S f&Hies # geema @1 efld wxar € 8 (CUHT @1 soifad WK 46 g mol)

W 87 ® &M
o Ice N Ice
= g Water + Ethanol = ? Water + Ethanol
270 273 Tk —— 271 273 Tk —
a Ice W a Ice W
© & o &7
o : o i
= : Water + Ethanol = Water + Ethanol
270 273 1k — 271 273 1k —
(A)

As T increase, V.P. increases. So C & D options get rejected.

TH afg & @ V.P. |t afg el 81 39 ¥R C 91 D fdded v &1 o 2 |

ATi=Kixm
273-T= 2x 34.5/46
0.5
Ty=270 K
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21. The major product of the following reaction is

frfoRad sifafsran &1 g1 I 3—

OH
i) NaNO,, HCI, 0°C
ii) ag. NaOH
NH,

OH 6Na+
w ) AVaW,
N=N

N.CI
N-N, OH OH
YaYa oay
Cl
Ans. (A)
OH OH E))
v QA e QU = Q)
NH, N=N N=N
" Cl cr
= OH
N=N N=N
22. For the following cell,

Zn(s) | ZnSOq(aq) || CuSO, (aqg) | Cu(s)
when the concentration of Zn?* is 10 times the concentration of Cu®*, the expression for AG (in J mol'1)
is
[F is Faraday constant ; R is gas constant ; T is temperature; E°(cell) = 1.1 V]
fer=tforRaa da1 & forg,
Zn(s) | ZnSO4(aq) || CuSO, (aq) | Cu(s)
TG Zn?* @Y Figd Cu” @ |al | 10 A1 & @ AG (J mol' #) & fow @iwid (expression) &
[F &_1s fFradie & ; R T fFRidiss 8 ; T e &; iR A & E° &l A = 1.1V €]
(A)2303RT+11F (B)11F (C) 2303 RT-2.2F (D)-2.2F
Ans. (C)
[Zn*"]
[Cu®']

Sol. AG=AG°+2303RTlog,0Q ; Q=

=-2F(1.1) + 2.303 RT log¢10
=2303RT-2.2F
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23. The order of the oxidation state of the phosphorus atom in H;PO;, H;PO,4, H3PO;, and H4P,0g is
H3PO,, H3P04, H3PO3, 3R HyP,06 3 BIRBIRH URHTY] b1 TRANDBRYN ARl B HH ¢ |

(A) H3PO4 > H3POZ > H3PO3 > H4P205 (B) H3PO4 > H4P205 > H3PO3 > H3P02
(C) H3P02 > H3PO3 > H4P206 > H3PO4 (D) H3PO3 > H3P02 > H3PO4 > H4P206
Ans. (B)
Sol.  Correct order W&l %9 : H,PO, > H,P,04 >H,;PO; > H,PO,
(+5) (+4) (+3) (+1)

24, The standard state Gibbs free energies of formation of C(graphite) and C(diamond) at T = 298 K are
AGO[C(graphite)] = 0 kJ mol™"
AGO[C(diamond)] = 2.9 kJ mol™
The standard state means that the pressure should be 1 bar, and substance should be pure at a given
temperature. The conversion of graphite [C(graphite)] to diamond [C(diamond)] reduces its volume by
2 x 107 m® mol™. If C(graphite) is converted to C(diamond) isothermally at T = 298 K, the pressure at
which C(graphite) is in equilibrium with C(diamond), is
[Useful information : 1J = 1kgm?s™, 1 Pa=1kgm™ s; 1 bar = 10° Pa]
C(@rpTge, graphite) C(8RT, diamond) a9 @1 T = 298 K TR A& 3faRen g @1 g iy (standard
state Gibbs free energies of formation at T = 298 K)
AG[C(IHTEE, graphite)] = 0 kJ mol
AGP[C(ERT, diamond)] = 2.9 kJ mol "' € |
A 1AM BT 7l & b ¥ T d99H W S| 1 bar 8191 A1BY 3R uemed g M1 =@1f?y | C (Ihige)
B C @R1) # uRacH s9d madd &1 2 x 10 ® m® mol ' "erdr g1 A C (@wge) &1 CERN) F FHard
gRad= & S a1 98 g9 R 9= C (IWrse), C (ERT) & |1y arraee 9 g, 8
[Suarfl g@=1 :1J=1kgm’s™, 1Pa=1kgm™ s7; 1 bar = 10° Pa]
(A) 58001 bar (B) 1450 bar (C) 14501 bar (D) 29001 bar

Ans. (C)
Sol. dG=VdP-SdT

At 298 K, SAT =0
..dG = VdP

P P
jdG _ deP - G=G°=V (P-1) [-: Solids involved .. V almost constant]
1 1

oo NG = [G®giamona + Va(P = 1)] = [Gographite"' Vg(P -]
0=29x10%+ (P-1)10°(-2 x 107%)
.. P =14501 bar
Bl : dG = VdP — SdT
298 KWR, SAT =0

- dG = VdP
P P

jdG:deP 5 G-G°=V (P-1) [-o/ ffdd & gafeiy V e fgd e 2 ]
1 1

© AG =[G, + Va(P = D] = [G°,. + Vg(P = 1)]

0=29x%x10°+(P-1)10°(=2 x 1079
- P =14501 bar
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25, Which of the following combination will produce H, gas ?
(A) Fe metal and conc. HNO;
(B) Cu metal and conc. HNO;
(C) Au metal and NaCN(aq) in the presence of air
(D) Zn metal and NaOH(aq)
fr=fealRad 5 9 @19 A1 G H, 19 Sarfed am?

(A) Fe g1g Ud A= HNO;
(B) Cugrg vd &< HNO;
(C) Augrg Ud NaCN arg & SuReIfd # (Seia)

(D) Zn g1g Td NaOH (STefi)
Ans. (D)
Sol.  Fe + conc. HNO; —— Passivity

Cu + conc. HNO3;—— NO;,

Au + NaCN + O, —— [Au(CN),I”

Zn + NaOH —— Na,ZnO; + H,
gd:  Fe + 9% HNO; ——> ffimaar

Cu + 9= HNO; - — NO,

Au + NaCN + O, —— [Au(CN),I”

Zn + NaOH —— Na,ZnO; + H;

SECTION - 2 : (Maximum Marks : 28)

This section contains SEVEN questions.

Each question has FOUR options (A), (B), (C) and (D). ONE OR MORE THAN ONE of these four
option(s) is(are) correct.

For each question, darken the bubble(s) corresponding to all the correct option(s) in the ORS.

For each question, marks will be awarded in one of the following categories :

Full Marks :+4 If only the bubble(s) corresponding to all the correct option(s) is(are)
darkened.
Partial Marks . +1  For darkening a bubble corresponding to each correct option, provided
NO incorrect option is darkened.
Zero Marks : 0 If none of the bubbles is darkened.
Negative Marks : =2 Inall other cases.
) For example, if (A), (C) and (D) are all the correct options for a question, darkening all these three will

get +4 marks; darkening only (A) and (D) will get +2 marks and darkening (A) and (B) will get —2 marks,
as a wrong option is also darkened.

26. For a reaction taking place in a container in equilibrium with its surroundings, the effect of temperature
on its equilibrium constant K in terms of change in entropy is described by
(A) With increase in temperature, the value of K for endothermic reaction increases because
unfavourable change in entropy of the surroundings decreases
(B) With increase in temperature, the value of K for exothermic reaction decreases because favourable
change in entropy of the surroundings decreases
(C) With increase in temperature, the value of K for endothermic reaction increases because the
entropy change of the system is negative
(D) With increase in temperature, the value of K for exothermic reaction decreases because the entropy
change of the system is positive
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9Raer (surroundings) & 1Y ARG H TS 91 H B & U AMfhal & fog, ggrdl d 9&ad &
AR 39D ARl ReRie K IR AM9H9 & 941 H1 goi9 Q4 fhan S 2
(A) IIHE g8 & A1, SN (Endothermic) IfAfhan & ArmaRen Rerid K &1 HIM dodl & difh
gRaer @I ufipe USidl § 9eard =edl §
(B) AI9ATE ¥@ @ I, HSHIEUl (Exothermic) MUfshar & Aram@wen ReRie K &I A9 gcdl 3 wifd
gRae Pl ATHA YSId § dSad gedl B
(C) IUH e+ & w12, Sl (Endothermic) 3rfafhar & AramaRer ReRie K &1 719 91 & Hifd
e & Ugrq # 95ad TS ©
(D) AT d¢ @ 1R, HHIE (Exothermic) JAMTHAT & ArgraRe ReRid K &1 A9 "edl & wifd
&R & UgI #§ 9eard gAaTHd 2

Ans. (AB)

Sol.  ASg, - —AH

Surr
For endothermic, if T increases, ASg will increases.
For exothermic, if Tgy. increases, AS,,. will decreases.
—AH
Tofem
STl s & forg, o T, afg &1 & 9 As,, ¥ afg &
Somard affran & forg, AR T, af B & @ AS,,, § @ a

gﬂ: ﬂsqﬁ_&ﬂz

27. In a bimolecular reaction, the steric factor P was experimentally determined to be 4.5. the correct
option(s) among the following is(are)
(A) The activation energy of the reaction is unaffected by the value of the steric factor.
(B) Experimentally determined value of frequency factor is higher than that predicted by Arrhenius
equation.
(C) The value of frequency factor predicted by Arrhenius equation is higher than that determined
experimentally.
(D) Since P = 4.5, the reaction will not proceed unless an effective catalyst is used.

e fgarqe sifafisar # fafaw A=l @@ (steric factor) P &1 uriffe A4 4.5 fFiRa fear wan)
frrafoarfaa & & 98 wer 3E)

(A) Bfam A= aca & 99 | AfAfshar &1 Ao Sl (activation energy) 3UWIRIT & € |

(B) amafl @€ (frequency factor) @1 TAIfe A ARIIH FHDHRO §IRT AT A A SATET & |

(C) A IR g1 ST 71 1Ay 'ed (frequency factor) & UTAIRTE AF | RITET 2 |

(D) RifH P = 4.5 &, 1§ P A SRS HI IYAN 1 fohan Sy, ififorar o =81 de |

Ans. (AB)
Sol. (A) E, is independent of steric factor
K
B) P = actual
(B) T

theoretical

S0, Axctual > Avneoretical
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g : (A E, Bifaw foari gea & w@dd 2
(B) P = K‘;rl'iﬁﬁ'cﬁ
K aaiae
AT A > Ao

28. For the following compounds, the correct statement(s) with respect to nucleophilic substitution reaction
is (are)
CH3

O O e
CH
| I :

1}
(A) Compound IV undergoes inversion of configuration
(B) The order of reactivity for I, Il and IV is : IV > I >1lI
(C) 1 and il follow Sy1 mechanism
(D) I and Il follow Sy2 mechanism

Ffatenftfere wferenmas aiffsansii (nucleophilic substitution reactions) & W= ¥ fe=ferRaa Al &
forg wE e B (©)

@/\Bf O/\Br HC—C Br @)\
' . |||

(A) I IV & =919 (configuration) &1 YA (inversion) BIdT 2 |
(B) I, MR IV S forg rfafrarfirerar &1 &9 IV > 1>l
(C) 1301 1 Sy 1 fehanfafer &1 rgaRol el &
(D) 1 3R I Sy2 fpanfafer &1 SrgeRor o= &
Ans. (ACD)

Sol. (A) Compound @)\Br,zo Benzylic may follow both path Sy1 and Sy2.

C
|

©) lis ©/\Br (1° benzyic halide) and C-C—Br (3° alkyl halide). Follow Sy1.
C

(D) I and 1l follow Sy2 also, as both are 1° halide.

g (A) If® @)\Br,réﬁnsﬁ%rcﬁ Sy1 T1 Sy2 fhaTfafd &1 SIgERT AR & |

C
©1, ©/\Br (1° S~IESfad gRS) ToI C—#—Br (3° Ufemd gergs) Sy1 franfafd weffa oxan 2|
C

(D) 1@ Il &4 S 6 1° §ass Sy2 frarfafd uef¥ia o=ar &1
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29.

Ans.

Sol.

Among the following, the correct statement(s) is(are)

(A) Al(CHs)3 has the three-centre two-electron bonds in its dimeric structure.
(B) The Lewis acidity of BCl; is greater than that of AICl;

(C) AICI; has the three-centre two-electron bonds in its dimeric structure.
(D) BH; has the three-centre two-electron bonds in its dimeric structure.

frfafed 5 & 98 09 ® (©)

(A) AI(CH3); @1 fguia R (dimeric structure) 3 fdg—al Selagiq MY ¥ |
(B) BCl; @1 84 3l AICL; 9 3ifd& 2|

(C) AICI; &Y fg<fa |== T (dimeric structure) ¥ fIBE—al golaei= M6 B |
(D) BH; @ fgfra &=a1 # (dimeric structure) f&g—al golag= 3mdy 8 |

(ABD)
Structure of Al,(CH3)g
3 center-2 electron bond

H
| H
H3C/ y \CH3

= BCl; is stronger lewis acid due to small size of boron.
= Structure of Al,Clg

Cl
C|\A|/C|NAI/
a” Sa” a

= Structure of B,Hg
3 centre 2-electron bond

H\BH

i =D

Alz(CH3)5 ?ﬁ W :
3TH-2 33??@13 g4

N A " cH
3C/ y eh,

:WEBQ%WG%WBCIgW?ﬁHW%
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:bAlzclea'ﬁ qqa' .

3P 2 SdS 99

"N\g H
H/V \H

30. The option(s) with only amphoteric oxides is(are)
®adl IIFH (amphoteric) 3TaATS Sl arel (arel) fawed & (2)
(A) NO, B,03, PbO, SnO, (B) Cr,05,CrO, SnO, PbO
(C) Cr,03, BeO, Sn0O,Sn0O, (D) ZnO, Al,03, PbO,PbO,
Ans. (CD)
Sol. NO = Neutral

B,O3z; = Acidic

CrO = Basic

All other oxides are amphoteric
gl : NO = IS

B,0; = 3%l

CrO = &g

3 al sifevigs SwaeHt B |

31. The correct statement(s) about surface properties is(are)
(A) The critical temperatures of ethane and nitrogen are 563 K and 126 K, respectively. The adsorption
of ethane will be more than that of nitrogen of same amount of activated charcoal at a given
temperature.
(B) Cloud is an emulsion type of colloid in which liquid is dispersed phase and gas is dispersion
medium.
(C) Adsorption is accompanied by decrease in enthalpy and decrease in entropy of the system.
(D) Brownian motion of colloidal particles does not depend on the size of the particles but depends on
viscosity of the solution.
U Ul & R H FE HUA B (2)
(A) U iR ASEISE & whifde argd (critical temperatures) 49T 563 K 3R 126 K 8| o fad
AOH R AfhId IR & FHM ATF1 TR YU & A AISSIor &Y el 3ifed 2
(B) 91 Udh SHRM UPHR &I DlAlgs o (o wd URfAra yrawern (dispersed phase) & 3R 19 uReqor
A1 (dispersion medium) 2 |
(C) 3rfereiyor (Adsorption), @R @1 Tl gew IR Toredl ges & w1 2Idl 2 |
(D) BTSS! HUI BT BN A PO b Aigel W R T8 Bchl 8 | IRy [Jeae &1 I (viscosity) R
R @t 21
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Ans. (AC)
Sol. = Higher the critical temperature, higher will be extent of adsorption.

= Cloud is an arosol, imulsions are liquid-liquid colloidal system.
= For adsorption AH =negative : AS = negative
= Brownian movement of colloidal particals depends on size of particles.

T = Iod PIfad did 8 R, MY & uR WY AfdH BN |
= d9IGdl Uh WA 8, RN Udh §d—5d hlegsd o 8 |
= IARTMI & fAU AH = FOTHD : AS = FRUHD
= BIAZS DU B FISHIA A Bl & MHR R R e 2 |

32. Compound P and R upon ozonolysis produce Q and S, respectively. The molecular formula of Q and S
is CgHgO. Q undergoes Cannizzaro reaction but not haloform reaction, whereas S undergoes haloform
reaction but not Cannizzaro reaction.

0 i) Os/CH,Cl, Q

i) Zn/H,O (CgHgO)
(i I) O3/CH;Cl, S
ii) Zn/H,O (CgH30)

The options(s) with suitable combination of P and R, respectively, is(are)

H,G CHy
/ CH,4 / CH;
(A) and
CH;
CH,4

CH;
H5;C
/ CH,4 / CH;
(D) QI and
H3C CHB
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Ans.

Sol.

AT P IR R & SATSIIHRTT (0zonolysis) B TR HH: Q 3R S, U= 8T & | SIE Q 3R S &7 Mvifas
JI CgHgO 1 Q B HFEIRI SfAfhar (Cannizzaro reaction) 8Ril 8 9R=] BT@BM 31fAfshan (haloform

reaction) g1 BIdl, SEfB S B BB AfAfhar Bl @ R BRI AfAfhar T8 e |

i) O3/CH,CI
o) P T, q
ii) Zn/H,O (CgH3z0)
i) O3/CH,CI
i) R—CRCh, s
i) Zn/H,O (CgHgo)

PR R & Sfad waoH aren faded HA9: 8

Qf @_(cm

B ch—(;>—/aﬁq H3C_©_</
CH;s

(CD)

0O
/ (i)0s, CH,Cl, i\« CH C//
(C) CH3 .—>Q (CgHgO). e 3 \
(i)zn, H,0 H

(0]

|

C

(| 03, CH,Cl, @

®_< (ii) Zn H,0 )

CH3 03, CH.C, CHZ

CH;
CHs

\
C _Os CHiCl \CH3
O H3 ™70 1 o
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SECTION - 3 : (Maximum Marks : 12)

. This section contains TWO paragraphs.
. Based on each paragraph, there are TWO questions.
. Each question has FOUR options (A), (B), (C) and (D). ONLY ONE of these four options is correct.
o For each question, darken the bubble corresponding to the correct integer in the ORS.
o For each question, marks will be awarded in one of the following categories :
Full Marks : +3 If only the bubble corresponding to the correct answer is darkened.
Zero Marks : 0 In all other cases.

PARAGRAPH - 1
Upon heating KCIO; in the presence of catalytic amount of MnO,, a gas W is formed. Excess amount of
W reacts with white phosphorus to give X. The reaction of X with pure HNO3 gives Y and Z.

MnO, &1 SARART § KCIO; &1 drad &= TR Udh 19 W gl 8 | W & Iy A1 9%e BRSRA &
AT AT b X Tl 8 | X BT Y& HNO; & 12l AfAfhar Y IR Z < B |

33. Y and Z are, respectively
(A) N,O, and HPO; (B) N,O, and H3PO3;
(C) N,O5 and H;PO, (D) N,O5 and HPO;
Y 3R Z % €
(A) N,O, 3R HPO, (B) N,O, 3R H3;PO,4
(C) N,O3 3R H;PO, (D) N,Os 3R HPO4
Ans. (D)

34. W and X are, respectively

W iR X o9l 8

(A) O, 3R P,04g (B) O, 3R P,O0¢

(C) 05 3R P04 (D) O3 3R P,04
Ans. (A)

Sol. (33&34)

KCIO; -~ “—KCl +0,
|V|I'IO2 (W)

P, + O, —P,04
(X)

(white) (excess)

P,O0;p +HNO; ——N,0O; + HPO,
(Y) (2)
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Paragraph 2

The reaction of compound P with CH3MgBr(excess) in (C;Hs),0 followed by addition of H,O gives Q.
The compound Q on treatment with H,SO, at 0°C gives R. The reaction of R with CH3COCI in the
presence of anhydrous AICI; in CH,CI, followed by treatment with H,O produces compound S. [Et in
compound P is ethyl group]

(CoHs),0 # AIffid P @1 CH;MgBr @1 s1ffidar & @1 Afffhan & SR ofd Sl R Q fAear &)
AfTH Q H,SO, & A1 0°C R fadas &=+ W R T 8| CH,Cl, # R @1 fsielig AICI; @1 SuRerfa #
CH;COCI & w121 s & SR ol ST R Al S a1 &iell & | [AIffs PH Etgfyer gu 2]

p

35. The product S is

IAE ST
H;C CH
COCH 3
’ (HsC)sC
(A) (H3C)3CCH3 (B)
COCH;
HOsS
(HsC)sC 0 CHs H,COC
© (D) (H:C)sC HyC_ Ot
COCH;, |
Ans. (B)
OH
(CH):C COLEL (CHa)sC, (':<§Hs
(i) CH;MgBr in excess H3
Sol. O\) (i?) (CH,),0 - @\) H,80,/0°C_
P Q
(CH3)3C CH3 (CH3)3C CH3
CH, (i)CHéi(z)((::IIZ;AICIs s CHs
R C
Y/
O/ \CH3
S
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36. The reactions, Qto Rand Rt0 S, are
(A) Aromatic sulfonation and Friedel-Crafts acylation
(B) Friedel-Crafts alkylation and Friedel-Crafts acylation
(C) Friedel-Crafts alkylation, dehydration and Friedel-Crafts acylation
(D) Dehydration and Friedel-Crafts acylation

QAR RIS fafwan g

(A) WRrifed FehTaT iR wrea—prae URafeldRor (Friedel-Crafts acylation)

(B) wrsa—mIue Ufowelldrvl (Friedel-Crafts alkylation) 3iR Wied—spiue URafeldRoT (Friedel-Crafts
acylation)

(C) wisa@—spue Tfewalidryl (Friedel-Crafts alkylation), fSieliaRor 3R Wrea—mae YRR (Friedel-
Crafts acylation)

(D) fFsteliavur &R wied—wrae YRaferdr ol (Friedel-Crafts acylation)

Ans. (B)
Sol.  Process involved in Q - — Rreaction is alkylation

Process involved in R— S reaction is acylation.
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